A2

| like both chocolate vanilla ice cream.

Answer:

She wants to go to the park, her parents won't let her.
Answer:

| want to see a movie, | don't have enough money.
Answer:

He is tired he still wants to play video games.
Answer:

| have a ticket | can't go to the concert.

Answer:

They studied hard, they passed the exam.

Answer:

She can't swim, she loves going to the beach.
Answer:

He missed the bus, he had to walk to school.
Answer:

We are going to have a barbecue, it's raining outside.
Answer:

I will visit my grandparents, they live in a different city.

Answer:




Answers

| like both chocolate vanilla ice cream.

Answer: and

She wants to go to the park, her parents won't let her.
Answer: but

| want to see a movie, | don't have enough money.
Answer: but

He is tired he still wants to play video games.
Answer: but

| have a ticket | can't go to the concert.

Answer: but

They studied hard, they passed the exam.

Answer: so

She can't swim, she loves going to the beach.
Answer: but

He missed the bus, he had to walk to school.
Answer: so

We are going to have a barbecue, it's raining outside.
Answer: but

I will visit my grandparents, they live in a different city.

Answer: because



